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( N/mm?  [Pmax(KN N/mm? N/mm?®)
A7 0% 265 17.7
A8 0% 236 15.7 16.8
A9 0% 257 17.1
1 A A4 5% 318 221 14.7
A5 5% 235 156 147
1 A6 55 206 137
B1 0% 219 146
B2 0% 188 125 138
1 0.2 B3 0% 215 143
B B1 10% 36.1 251 17.2
Po2 ) B2 10% 240 16.7 165
B3 10% 300 184 ;
2 1 B4* 10% 198 137
Po2 Po2 *B4
2
3 1
P, Pmax/P
( N/mm?  [Pmax(KN)]  Pmax(KN) (KN) 02
AL0 0% 239 194 12
AlL 0% 259 244 190 14
AL2 0% 235 194 12
1 2 Po. A Al 5% 318 220 181 12
A2 5% 18.1 200 165 11
1 A3 5% 198 186 11
B1 0% 19.6 192 10
B2 0% 203 201 203 10
B B3 0% 361 205 152 13
B2 10% 172 196 172 10
B3 10% 220 : 158 14
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